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[> IntMul := proc(@ :posint, a::Array, A H’S S £
:posint, b::Array f ’ 2
c::Array,’# space for product I"e"“rns Te :It 9
B::posint )
local i,j,t,carry;

for i from 0 to m+n-1 do 4_}261' (m-{-r\).

t := b[i]*a[j] + c[i+]j] + carry; ] -4.. kl Mm-N

c[i+j] := irem(t,B, 'carry');
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c[i+j] := carry; —m8 ——— ékz""\
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od;
# return the length of the product
if carry=0 then n+m-1 else n+m £fi;

> a := Array(0..2,[5,4,3]): # a = 345 _2 - ad N
_ b := Arra%EO..z,[G,T,Blgz # b =876 __\a\aq A Mﬂd'd‘“d g
> ¢ := Array(0..5):

n := IntMul(3,a,3,b,c,10);

n==~o

> 345%876 = add( c[i]*10%i, i=0..n-1 );
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